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1. Which of the following is not a generally accepted method of valuation ?
(A) Accounts receivable at estimated amount collectible.
(B) Inventories at lower-of-cost-or-net realizable value.
(C) Agricultural produce at fair value less costs to sell.

(D) Prepaid expenses at fair value.

2. SCU Company has a $500,000 short-term obligation due on March 1, 2019. The CFO discussed with its
lender whether the payment could be extended to March 1, 2021, provided SCU Company agrees to
provide additional collateral. An agreement is reached on February 28, 2019, to change the loan terms to
extend the obligation’s maturity to March 1, 2021. The financial statements are authorized for issuance
on April 1, 2019. How this debt obligation should be presented on the December 31, 2018, statement of
financial position?

(A) Current liability $500,000.
(B) Non-current liability $500,000.
(C) Current liability $250,000 and Non-current liability $250,000.

(D) All of these answers are incorrect.

3. On June 2, 2022, Olsen Inc. purchased a trademark with a cost $2,360,000. The trademark is classified as
an indefinite-life intangible asset. At December 31, 2022 and December 31, 2023, the following is

available for impairment testing:

12/31/2022 12/31/2023
Fair value less costs to sell $2,280,000 $2,265,000
Value-in-use $2,340,000 $2,390,000

(A) Recovery of Impairment of $50,000.

(B) Recovery of Impairment of $20,000.

(C) Impairment Loss of $20,000.

(D) no Impairment Loss or Recovery of Impairment.
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4. SCU Mining purchased land on January 1, 2023, at a price of $1,250,000 (subject to 2% cash discount,
which was not taken). It estimated that a total of 60,000 tons of mineral was available for mining within
5 years. After it has removed all the mineral resources, the company will be required to restore the
property to its previous state because of strict environmental protection laws. It is estimated that it will
cost $70,000 to fill and clear land at the end of this restoration. It incurred developmental costs of
$200,000 before it was able to do any mining. Calculate the total cost of mineral. (Assume an
effective-interest rate of 6%)
(A) $1,277,308 (B) $1,477,308 (C) $1,302,308 (D) $1,520,000
5. Presented below is information related to SCU Inc. Compute the cost of SCU’s ending inventory at
December 31, 2022, assuming that uses conventional retail inventory method.
Cost Retail
Inventory, 1/1/2 $250,000 $ 390,000
Purchases 914,500 1,460,000
Purchase returns 60,000 80,000
Purchase discounts 18,000 —
Gross sales (after employee discounts) — 1,410,000
Sales returns — 97,500
Sales discounts — 20,000
Net Markups — 80,000
Net Markdowns — 25,000
Freight-in 42,000 —
Freight-out — 38,000
Employee discounts granted — 8,000
Loss from breakage (normal) 2,500 4,500
Loss from breakage (abnormal) 1,800 3,000
(A) $299,045 (B) $303,170 (C) $304,263 (D) $307,345
6. SCU company received the following selected information from its pension plan trustee concerning the

operation of the company’s defined benefit pension plan for the year ended December 31, 2022.

January 1, 2022 December 31,2022
Defined benefit obligation $1,500,000 $1,527,000
Fair value of plan assets 800,000 1,130,000
Accumulated benefit obligation 1,600,000 1,720,000
Accumulated OCI (G/L)—Net gain —0- 200,000

The service cost component of pension expense for employee services rendered in the current year
amounted to $77,000. The company’s actual funding of the plan (contributions) in 2022 amounted to
$250,000. The discount (interest) rate was 10%. Assume no benefits paid in 2022. Determine the

amounts of the components of pension expense that should be recognized by the company in 2022.

(A)$7,000  (B)$77,000  (C)$147,000 (D) $227,000
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1. SCU Corporation issued €3,000,000 of serial bonds with a 5% stated rate of interest for €XXX on
January 1, 20X0. The company is to repay the bonds in three annual €1,000,000 installments beginning
December 31, 20X3 and to pay interest annually. The selling price of this serial bond issue reflects a
yield of 6%. Which of the following statements are correct of SCU Corporation’s serial bonds?
(A) The selling price of this serial bond is €2,874,053.

(B) The selling price of this serial bond is €3,129,510.

(C) The amount of interest expense for 20X1 is €173,790.
(D) The amount of interest expense for 20X3 is €176,730.
(E) The amount of cash paid at 20X3/12/31 is €150,000.
(F) The carrying amount at 20X3/12/31 is €1,972,233.
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2. SCU Company owes €200,000 plus $18,000 of accrued interest to Moran State Bank. The debt is a

10-year, 10% note. During 2022, SCU’s business deteriorated due to a faltering regional economy. On
December 31, 2022, Moran State Bank agrees to accept an old machine and cancel the entire debt. The
machine has a cost of €390,000, accumulated depreciation of €221,000, and a fair value of €160,000.
Prepare journal entries for SCU Company to record this debt settlement. Which of the following
statements are correct?

(A) Debit Note Payable for €200,000 and Interest Payable for €18,000.

(B) Debit Loss on Disposition of Equipment for €9,000.

(C) Credit Gain on Disposition of Equipment for €9,000.

(D) Credit Gain on Extinguishment of Debt for €58,000.

(E) Credit Gain on Extinguishment of Debt for €49,000.

(F) Debit Accumulated Depreciation—Equipment for €221,000 and Credit Machine for €390,000.

. On August 1, SCU Ltd. exchanged productive assets with Wiggins Ltd. SCU’s asset is referred to below

as Asset A, and Wiggins’ is referred to as Asset B. The following facts pertain to these assets.

Asset A Asset B
Original cost €96,000 €110,000
Accumulated depreciation (to date of exchange) 40,000 47,000
Fair value at date of exchange 60,000 75,000
Cash paid by SCU Ltd. 15,000
Cash received by Wiggins Ltd. 15,000

Assuming that the exchange of Assets A and B has commercial substance, record the exchange for SCU
Ltd. Which of the following statements are correct?

(A) Debit Asset B for €75,000.

(B) Debit Accumulated depreciation-Asset A for €40,000.

(C) Debit Asset B for €71,000.

(D) Credit Gain on Disposal of Asset A for €4,000.

(E) Credit Asset A for €96,000.

(F) Credit Cash for €15,000.
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4. (10%)

The accounting records of SCU Inc. show the following data for 2022.

1.  On January 1, 2022, equipment costing $1,200,000 is purchased. It is to be depreciated on a
straight- line basis over 5 years for tax purposes and over 8 years for financial reporting purposes.
(Under applicable tax law, a half-year of tax depreciation is recorded in 2022 and 2027.)

Interest of $4,000 was earned on tax-exempt governmental obligations in 2022.

3. Product warranties were estimated to be $50,000 in 2022. Actual repair and labor costs related to
the warranties in 2022 were $10,000. The remainder is estimated to be paid evenly in 2023 and
2024.

4. Sales on an accrual basis were $100,000. For tax purposes, $75,000 was recorded on the
installment-sales method.

5. Fines incurred for pollution violations were $4,200.
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6. Pretax financial income was $750,000. The tax rate is 30%.
Instructions:
1. Compute taxable income and income taxes payable for 2022.
2. Prepare the journal entry for 2022 to record income taxes payable, income tax expense, and
deferred income taxes.
3. Indicate how deferred income taxes should be presented on the December 31, 2022, statement of

financial position.

5. (10%) M Ta ] 4g&plpz o
(1) (4%) On January 1, 2022, Chang Ltd. had 480,000 ordinary shares outstanding. During 2022, it had

the following transactions that affected the ordinary share account.

February 1 Issued 120,000 shares for cash at $20 per share. The fair value of Chang’s ordinary
shares per share immediately before the exercise of rights is $20 per share.

March 1 Issued a 20% share dividend
May 1 Acquired 100,000 treasury shares
June 1 Issued a 3-for-1 share split

October 1 Reissued 60,000 treasury shares

Instructions:

a. Determine the weighted-average ordinary shares outstanding as of December 31, 2022.

b. Assume that Chang Ltd. earned net income of $3,256,000 included a loss from discontinued
operations of $1,432,000. The loss from discontinued operations is net of applicable income taxes. In
addition, it had 100,000 shares of 9%, $100 par, non-convertible, cumulative preference shares
outstanding for the entire year. Because of liquidity considerations, however, the company did not
declare and pay a preference dividend in 2022. Compute earnings per share for 2022.

(2) (6%) On January 1, 20X3 ABC Co. issued at par, $1,000,000, convertible bonds, each $1,000 bond
convertible into 40 shares of ordinary shares, with interest payable December 31 of each year. The
carrying amount of the liability component of bonds on January 1, 20X5 and 20X6 were $880,000 and
$900,000 based on market rate of 10%. ABC had revenue of $1,000,000 and expense other than interest
and taxes of $700,000 for 20X5 and 20X6, respectively. On January 1, 20X5, 50,000 shares of ordinary
shares were outstanding. On May 1, 20X6, $600,000 face amount of bonds were converted. The tax rate
is 40%.

Instructions:
Compute the basic earnings per share and diluted earnings per share for 20X5 and 20X6.
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